O

Jshd niitk [(HE 28 sti=0 =1

SOt (2F0))

POINT  PAGE LESSON H  POINT  PAGE
. to AL
H&ALifQt whether 12 3-2 293 of I;'l' g‘ ; o: 5 6 122
1 1
to AL =
S 84 5 31 "z EACHHAL what 13 4 326
SEAL AFRAEAL 1 4-3 26 2 UX| 15 1-2 375
2 2
so that ~ 12 4-5 302 TEAT} Y= A=EY 4 4 93
ZHAICHEALS] e
AT 28 13 7 330 SEA A SA 1 4-3 26
3 3
H&Atthat: It ~ that | 12 3-1 291 Itis~thatZ= 12 | 16 1-2 393
s * the + H| g ~
Q| IoH 2 _
SIXH 22 RISHA| K| 2 4 45 the + [ 10 2-2 240
4 4
O|2A} + toE AL 5 2-3 116 T<£At since 12 4-2 297
IR A 7 2 157 T4 31 14 1 348
5 - 5
= S - o=, Ex .
as+ 23 +as 10 1-1 234 O|ZAf + tol AL 5 2-3 116
TpHLLEA|H| 2 5 47 so that ~ 12 4-5 302
6 6
ZHAICHHEAL what 13 4 326 enough to 5 5 121
ZAE 7 | 51,52 | 162,164 24 ZHH|CHA} 13 23 303
! ! BAEES 0|1
A =22 VI—— _
M2t as 12 5 304 HAAL AlZH 12 41 295
toR AL = oD
ojajA =of 5 6 122 BAE 7 5-1,5-2 | 162, 164
8 8
JhEE 34 A 14 1 348 THAZAIH| 2 5 47

F' Y
-l
o
I
r=
o
j'g
02
2
uz
i)
mjo
Hi
i)
44
rir
B

7t X2 X|& HackersBook.com



=} Hxf (o)

LESSON CH POINT  PAGE LESSON POINT  PAGE
A CHHAF what 13 4 326 tEo|2 15 | 3-2,3-3 | 379, 380
1
& HACHBEALL
SSALL X|ZHS A 1 4-4 27 Hax 2 13 7 330
TIALE 2 AlSH= AL 7 1,2 | 156,157 TEA/AZAH]| 2 5 47
2 ESESN oF 2
since
- H|m= 24X -
though 12 | 4-2,4-4 | 297,300 (Imi=%s, 10 2-1 238
ST = TISHA|H| 2 4 45 enough to 5 5 121
3 3 ly Ab
so ~ that - 12 4-6 302 not only A but 12 2 289
(also) B
A A 13 6 328 EAIRE 7 | 51,52 | 162,164
4 4
H&ALifet whether | 12 3-2 293 ZHCHHEAL what 13 4 326
THASAIH| 2 5 47 TP Tt 14 1 348
5 5
ltis ~that Zx 212 | 16 1-2 393 24 ZEA|CHZIAF 13 2-3 323
toR At the + H|@Z ~,
s clozol R the + tlmg | 10| 22 | 240
THEH 147 14 1 348 Itis ~that ZZ= 12 | 16 1-2 393
2Ar2g 7 | 51,52 | 162,164 sie Mk M2 15 3-1 378
7 7
RSN} U S EEY 4 4 93 HEAL if 12 32 293
ZSAF+ have + - 6-1,6-2, | 194,195,
CHE3A
p.p. 8 5 4 FEHBA 8 6-3 196
8 FAICHE A 8
EACHEAI .
HAH 2 13 7 330 SAL toA HA 1 4-2 24
3oHA WatM thE 2 o =0l 71 411



(1)

LESSON CH  POINT  PAGE CH  POINT  PAGE
toFALL| - "
o0}t =of 5 6 122 SIXHRHE RIBHA| K| 2 4 45
1
A YA 2
Ham 2 137 330 ANt what | 13 | 4 326
: o ZACHHAS|
Itis ~ that 2= 22 | 16 1-2 393 HAx 29 13 7 330
2 2
5&{A| 1| 41,42 | 23,24 HAIS 2AISH= 2AL | 7 1,2 | 156,157
A CHHAL what 13 4 326 TA/AZA K| 2 5 47
° SEAL AFIEA} 1 4-3 26 3 EAEE 0|11 = 12 4-1,4-2, | 295, 297,
e e H&A 4-3,4-4 | 298, 300
THAZA|H| 2 5 47 H&ALifet whether | 12 32 293
4 4
ZAE 7 | 51,52 | 162,164 FEAT} Y= A= 4 4 93
to AL

[e]1=8 Hxq -

O|ZA} + toEHAL 5 2-3 116 ollar Xof 5 6 122

the + H|mF ~ .
) i p—

the + B[22 10 22 240 ZHH AL 13 6 328

3) m the + H| W& ~
B X ZPS =] - ) R
she Mk HA R 15 3-1 378 the + H|z3- 10 22 240
SHAL X|ZHS AL 1 4-4 27 2AEE 7 5-1,5-2 | 162, 164
7H8Y 2tA 14 1 348 JhEH 3] 14 1 348
7
so ~ that --- 12 4-6 302 so that ~ 12 4-5 302

44
rir
B

7t X2 X|& HackersBook.com



CH POINT PAGE CH POINT PAGE
SAIE ZX8H= do 16 1-1 392 too ~ to 5 5 121
BACHEA what 13 4 326 tol B Ate| HIEY 5 1 112
AT A2 TIHA|H| 2 4 45 BARE 7 5-1,5-2 | 162, 164
DAL AAISH= 2AL 7 1,2 | 156,157 H2Afif 12 3-2 293
A the + H|W & ~
= ZtX 18 - ’ -
Itis ~that ZZX 12 = 16 12 393 the + |23 10 2:2 240
S&Al AL S At 1 4-3 26 Itis ~ that 4= 112 16 1-2 393
toEF AL
TP abAq 14 1 348 seem to 8 5-2 193
MAHAZAIH| 2 5 47 A CHEAL what 13 4 326
so that ~ 12 4-5 302 AT RAZ TIHALH| 2 4 45
ZHACHE AL e H|ul:
AL 24 13 7 330 as+ 92 +as 10 1-1 234
to ™ALL
SApE 24 5 4 119 MAHAZ A 2 5 47
ZHAEAL 13 6 328 718 0bA 14 1 348
the + H| W ~,
the + H[ZZ- 10 22 240 so that 12 4-5 302
not only A but
2o 7 -1,5-2 | 162, 164 12 2 2
a 51,5 62,16 (also) B 89
SHA2E 56 6 6 140 H&AF while 12 4-4 300
| wish 7P 1tA 14 6 356
HFHoIEE 15 3-2,3-3 | 379, 380
3ghd wautd i 28 ot =0 27| 413



A OJ2Hil (£/13)) (] HRY (Zxie)

LESSON CH POINT  PAGE LESSON CH POINT  PAGE
ZHAH|CHYAL what 13 4 326 A CHHEAF what 13 4 326
1 1
F&At although 12 4-4 300 A LA 13 6 328
) toEEALO
~ 2txX 12 -
ltis ~that Z= 22 | 16 1-2 393 o}t =of 5 6 122
2 FAICHHARC 2
ZHACHEALS] o "
AL 24 13 7 330 AT AETIGHAIK| 2 4 45
=7 BA A} 13 2-1 320 HAALif 12 32 293
3 3
EAIZ #Z38l= do 16 1-1 392 A2 AIH| 2 5 47
T AE| 2 5 47 TIALS AAISHS BAL 7 1,2 | 156,157
4 4
UHOERE 15 | 3-2,3-3 | 379,380 JHER0f it 8 5-1 192
CI{i=1-} 7 | 51,52 | 162, 164 HARE 7 | 51,52 | 162,164
> lyAb 3
not only A but 12 2 289 so that ~ 12 45 302
(also) B
ZHH AL 13 6 328 Itis ~thatZ= 112 | 16 1-2 393
6 6
HaHAL 12 6 306 S ALAEA 1 4-3 26
AR ZACHHEAL 13 2-3 323 H&Atas 12 5 304
7 7
JPEE 3pA 14 1 348 & ol 15 1-2 375
JFEE T4 14 1 348
8
with + TIA} + A 7 6 168

F' Y
ey
'y
I
rx
Juta)
1|§
02
2
>
i)
mjo
Hir
2
44
rir
B

7t X2 X|& HackersBook.com



[ meuees

LESSON CH POINT PAGE

CH POINT

PAGE

ZACHHEAL what 13 4 326 SBAl AFAZ A} 1 4-3 26
1
SHAL X|ZHEAL 1 4-4 27 ST BE 3 6 6 140
toF AR the + |11 g ~,
) o|ojAt =04 5 6 122 the + H|TZ--- 10 2-2 240
" toEEAL)
DAL AAISH= 2AL 7 1,2 | 156,157 oAt of 5 6 122
not only A but 12 5 289 not only A but 12 5 289
(also) B (also) B
3
oI E 15 3-2,3-3 | 379, 380 | wish 7148 14 6 356
THAZAIH| 2 5 47 TpHAZA|H| 2 5 47
4
toEALS| g
4 11 1 1-1 234
A 84 ° ° as+ @5 +as 0 8
BHHYHAL: one 8 6-1 194 so ~ that - 12 4-6 302
5
2AE 7 | 51,52 | 162,164 SEAl X|ZHS A 1 4-4 27
Itis ~ that 4= 72 16 1-2 393 Itis ~ that 4= 12 16 1-2 393
6
HaBAL 12 6 306 A2 7 | 51,52 | 162,164
toF AL
71 2t 14 1 348 _‘?_;;’;, au 5 4 119
7
5344l 1 4-1,4-2 | 23,24 So + BAL+ F0f 16 3 396
too ~ to 5 5 121 TEAF whether 12 3-2 293
8
No one - 16 2 395 It's time 7™ 14 6 356




